CMR
INSTITUTE OF USN
TECHNOLOGY
Internal Assesment Test — Il August 2022
Sub: | Complex Analysis, Probability and Statistical Methods Code: 18MAT41
Date: | 03/08/2022 Duration: {90 mins | Max Marks: |50 Sem: (4 Branch: ALL (Except
for EEE B)
Question 1 is compulsory and answer any 6 from the remaining questions.
OBE
Marks
CO |RBT
1 IDiscuss the transformation w = z + %,z # 0. Bl | con | 13
2 |Discuss the transformation w = e?. [7] | CO2 L3
Find the bilinear transformation which maps the points z = 1, i, —1 onto the points [7] | CO2
3 , L3
w=21i -2
Find the bilinear transformation which maps the points z = oo, i, 0 onto the points [7] | CO2
4 . . . . . .
w = —1,—1i, 1. Also find the invariant points of this transformation. L3
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Evaluate f((oz’ls))(Sx + y)dx + (2y — x)dy along (i) the curve y = x2 + 1, (ii) the line [71 | coz
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joining (0,1) and (2, 5).
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